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It is mandatory to fill one option for each question.

i

2. All questions carry equal marks.

3. Only one answer is to be given for each question. If more than
one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet.

When you are directed to open the Question Booklet, take out
the Answer Sheet and fill in the particulars carefully with Blue
Ball Point Pen only.

5.  Please correctly fill your Roll Number in OMR Answer Sheet.
Candidates will themselves be responsible for filling wrong
Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8.  Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN.

9. If you are not attempting a question then you have to darken

the circle *5°. If none of the five circles is darkened, one third

(1/3) part of the marks of question shall be deducted.

After solving question paper, candidate must ascertain

that he/she has darkened one of the circles (bubbles) for

each of the questions. Extra time of 10 minutes bevond
scheduled time, is provided for this. :

11. A candidate who has not darkened any of the five circles in
more than 10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

13. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession. F.LR. would be lodged against

him/her in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may

also debar him/her permanently from all future examinations.
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W :
Which state ruler, while signing
the merger letter of integration in
Rajasthan, stated that “he was

signing his death warrant” ?

(1) Kota

- (2) Jaipur

(3) Jodhpur
(4) Banswara

(5) Question not attempted

How many heads and hands does
the Idol of Auwa Ancestral
Goddess Sugali Mata have ?

(1) One head and two hands
(2) One head and eight hands
(3) Ten heads and fifty four

hands
(4) Twenty heads and one
hundred eight hands

(5) Question not attempted

Which statement is not correct
regarding Jagdish temple of
Udaipur ?

(1) It was bult in 1653.

(2) A five feet high black stone
idol of Vishnu is consecrated

here.

(3) It is built in Panchaytan
Style.

(4) Small temples of Shiva,

Parwati, Ganpati and Sun are
also located here.

(5) Question not attempted
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“Parijat Avtaran of Bhagwat
Purana” is the work of which
Mewar painter ?
(1) Nana Ram

(2) Udai Singh

(3) 7 Bana Ram

(4) Ram Singh

(5) Question not attempted

Odani with lotus flower motifs is
called by which name in Rajasthan ?

(1) Pomcha

(2) Patanga

(3) Lahariya

(4) Chunri

() Question not attempted

A family has a man, his wife, their
four sons and their wives. The
family of every son also has 3 sons
and’ one daughter. The total
number of male members in the
whole family is :

2y 8

3 13 M

(5) Question not attempted

If L. stands for +, M stands for —,
N stands for x, P stands for +, then
value of 14 N 10 L 42 P2 M 8 will
be

(1) 248 @ 153

3 216 (4) 251

- (6) Question not attempted
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10.

The mean of n terms of a

; distribﬁtion is x . If the first term

is increased by 1, the second term
by 2 and so on, then the new mean

will be :
(1) x+tm+l)

@)y =+ (n ;- 1)

X
(1 +24. En)

3

x+t2
) (1+2+ +n)

(5) Question not attempted

The points scored by a Kabaddi
team in a series of matches are as
follows :

1%, 2::7:27:15; 5514, §:10,:24, 48
10,.8. 7, 18:28

The median of the points scored by
the team is :

(1) 10 2y 11

3 .12 4 13

(5) Question not attempted

If 3 chairs and 1 table cost ¥ 900
and 5 chairs and 3 tables cost
T 2,100, then the cost of 4 chairs

and 1 table is

(1) T 1,000 (2) 1,050
(3) 1100 @y 1150
(5) Question not attempted
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12.

13.

14.

15.

If o and B are the zeros of the
polynomial p(x) = 242 — 5x + k such
that o — p =—7/2, then k is a zero of
which of the following polynomials ?

(1) 22-2x+3
2) 2+3x-=2
3 x2+2x-3
(4) x2—3x+2
(6) Question not attempted

If 553 + 5x2 — 6x + 9 is divided by
(x + 3), then the remainder is

(1) 135 & —135
3 -63 (4) 63
(5) Question not attempted

In a right circular cylinder, radius
is doubled and height is halved,
curved surface area will be

(1) halved of the original

(2) doubled of the original
(3)
4)
(5)

same as of original
four times of the original
Question not attempted

Three cuboids of - dimensions
5cmx6cmx7cm,4cmx7cm x
8cmand 2em x 3 em x 13 em are
melted and a cube is made. The
side of the cube is

(1) 8cm (2) 9cm

3) 2cm (4) l1llcm

(5) Question not attempted

If the ratio of surface areas of two
spheres is 4 : 9, then the ratio of
their volume is

() B:-27 2 8:19
3 18:11 4 19:8
(5) Question not attempted
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22.
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24.

25.

Fill in the blank with the correct
determiner :

The words he spoke were
well chosen.

(1) few (2) much

(3) large (4) a little

(5) Question not attempted

Which of the following is the
correct indirect speech of the given
direct speech ?

“Shall I lock the car or leave it
unlocked ?” he said.

(1) He asked whether he should
lock the car or leave it
unlocked.

He asked whether he was to
lock the car or leave it
unlocked.

He asked whether to lock the
car or leave it unlocked.

All of these

Question not attempted

@

3
4
®)

Fill in the blank with suitable

preposition :

She will not easily agree my
proposal.

(1) with (2) by

(3) on (4) to

(5) Question not attempted

Fill in the blank with
appropriate tense :

The Newspapers its going to
be cold today.

(1) say (2) saying

(3) has said (4) telling

(5) Question not attempted

the

Choose the most suitable antonym
of “Condemn”.

(1) Hindrance (2) Attenuate
(3) Criticize (4) Approve

(5) Question not attempted .
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26.

27.

Consider the following statements

regarding India’s renewable energy

revolution and choose the correct

option :

Statement A: As on 20th
January 2025, India’s total non-
fossil fuel based energy capacity
has reached to 417.62 GW.

Statement B : The year 2024 saw

record breaking 14.5 GW of

solar capacity and 3.4 GW of
wind capacity added.
Both the statements A and B
are true. _
Only statement A 1s true.
Only statement B is true.
Both the statements A and B
are false.
Question not attempted

D

2)
(3)
@

®)

Recently, Rajasthan Government
announced an important change in
the Lado Protsahan Yojana.
Provided the conditions of
eligibility are fulfilled, in respect of
this scheme which of the
statements is correct ?

(1) Now on birth of daughter in
Rajasthan ¥ 2.0 lakh will be
provided in the form of a
saving bond.

Now on birth of daughter in
Rajasthan ¥ 1.25 lakh will be
provided in the form of a
saving bond.

Now on birth of a daughter in
Rajasthan T 1.50 lakh will be
provided in the form of a
saving bond.

Now on birth of a daughter in
Rajasthan T 1.75 lakh will be
provided in the form of a
saving bond.

Question not attempted

(2)
6))
4

®)
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29.

30.

for Vishwakarma Yuva Protsahan

Yojana as per Rajasthan budget

2025-26 and choose the correct

option : :

Statement A: In this scheme,
10% interest subsidy will be
provided for loans up to ¥ 2
crore.

Statement B : Provision of ¥ 150

crore is made in the budget

for the scheme.

Both the statements A and B

are true. '

Only statement A is true.

Only statement B is true.

Both the statements A and B

are false.

Question not attempted

eY)

(2)
3
4

(G

India’s first indigenous automated
biomedical waste treatment plant

named ‘Srjanam’ has been

- developed by which of the following

institutions ?

(1) CSIR - IGIB, New Delhi
(2) CSIR — NIIST,-
Thiruvananthapuram
CSIR — CBRI, Roorkee
CSIR — CSIG, Chandigarh

Question not attempted

(3)
4)
(5)

Recently in March 2025, who was
sworn in as the Federal Chancellor
of Austria ?

(1) Alexander
Schallenberg

Karl Nehammer
Christian Stocker

Karl Renner

Question not attempted

Georg Nicolas

2
3
4
®)
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31.

32.

33.

Consider the following statements

for “Bharat 6G” and choose the

correct option :

Statement A : “Bharat 6G 2025” —
3rd International Conference

and Exhibition was held in .

New Delhi in May 2025.
Statement B : The Bharat 6G
Vision aims to lay out an
ambitious path for India to
design, develop, and deploy
6G technology by 2035.

Both the statements A and B
are true.

Only statement A is true.
Only statement B is true.
Both the statements A and B
are false.

Question not attempted

ey
@
3
(€Y

(®)

According to Rajasthan
Government budget 2025-26, at

which of the following places
digital planetarium will Dbe
established ?

A. Alwar B. Ajmer

C. Bikaner . D. Kota

Choose the correct option :

(1) Allof the above A, B, Cand D
(2) A,BandC

3 B,CandD

40 A, BandD

(5) Question not attempted

Where was the Second All India
State Water Ministers’ Conference
organized ?

(1) Kota (2) dJaipur

(3) Udaipur (4) Jodhpur

(5) Question not attempted
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@y G i
(5) IHTRA T

|

e i s Sran

T S ey

P AR S 3 e T

AL S KIS WA U TV AASAARS TWAAILIAER W ARSI S TOLLABEIRE § PN Ve I A T KBS SR Y RN TN R TR T

Liadiaes 1A AN AT B W AR RE PRI SS T
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35.

‘Sahitya Akademi Translation
Prize 2024’ and select the correct
answer using the codes given below
in the lists :

List-I List-11
(Language) (Translator)
A. Guarati i. Archana Kesar

B. Assamese ii. Ramanik
Agrawat
C. Dogri iii. Anjan Sarma
Codes:
A B €
D -n 1w
2y n oW
{3~ Sr ikt
@) -

(5) Question not attempted
Match Column-I and Column-II by
choosing correct option for medals

won by Rajasthan in 38t National
Games held in Uttarakhand :

Column-I Column-II
(Sports) (Total Number
of medals won)
A. Archery 1. Three
B. Wushu ii. Two
C. Shooting 1. Twelve
Codes :
A B €
(b Bt RS 1
@ w I oty
(3) Tar-. i 11
@ i i i

()

Question not attempted

OD



36. Tr=fafiga sfufsraeti +1 46 wwr @ * 36. Match the following reactions with

their types and choose the correct

water

(3) O H HRRF 3T 1 5-8% Tt |
(4) " F s s w5-8%
=i (4) 5-8% solution of Oxalic acid in

!
) Eﬂﬂﬁﬁ SeC ; water
|

- (5) Question not attempted

(3) 5-8% solution of Sulphuric
acid in water

giferd U Tl fosbed w1 ag Hifo s
; S ; Reaction Type of
: ' TSR | 7 Reaction
@) CaO + H,0 > a. foiem &B}%ﬁm 3 @ CaO+H,0—> a. Decoxpposition
Ca(OH), - : Ca(OH), reaction
: | :
(i) CaCO, 2> b. foeem= | (@) Ca€O4-2> b. Dlspsﬁlcemeﬂt
H reaction
Ca0 + CO, sHfrfiran § Sa0
(ii)) Pb + CuCl, > c. Wi sffen | @DPD+CuClh—> c. Comtl?ination
s reaction
S | PhCL+Cu
(iv) Na,SO, + d. faferemm | miNas0Gs ¢ Db
i BaCl, — displacement
BaC12 7 aﬁm E BaSO . + reaction
_ : 5 _
-BaSO, + : 2NaCl
ety Codes:
R (i) (@) (i) (@iv)
G) Gi) (i) Gv) | G0 5 LB e g
i Ty F s e b
e - Pl F laive. . i
T o I @ b (s
A e | P e ationd siot sttomapted
i uestion not attempte
(5) FITid IH ;
i
!
37. T&ReH1, S ufes % &9 § sga@d § wm | 37. Vinegar, widely used as a
e 2 5 preservative, is :
’ 2 E (1) 5-8% solution of Citric acid in
(1) uHtd fafes T 1 5-8% e | S
@) T e s 5-8% e | (2) 5-8% solution of Acetic acid in
i
3

oD 1 o




38. A Uh IUH I Feiftad H arell | 38. If the tension in the cable

et B T ST % W H G R, A |
SATTH ST &1 &l Tl @ - f
A) TR IR T T Y
B) 6 3 Ted T D
(C) IWHIIRFFaa=d
(D) = Fi 3R Fra e a
SR HA BT R TAE ?
(1) ad (A) 9U1 (C)
(2) ad (B) a1 (D)
(3) heid (A) a1 (B)
(4) %34 (C)au1 (D)
(5) ITTRd T

39. HicH-1H Y YU 8§ m §e39H i Th
TG W TH 5 F HRA 2 | foramm 6
foeam fem & o <t 3R e v |
T ? | Hiew-1 o Hiem-11 i gaferd T |

v T s Yo b T3 an b anes T

BT R T ——

T e NN LRSS

wHiem-1 wiea-I1 i

(R T) @@Fga

fmned) |

@ F—— O "

EF (i) FOTHE |

90° - 3

®)

©{F—— @®| |

%

(4) B) (©

(G G @)
@) @ Gi) Gi)
(3) (i) @i @)
@) Gi) @ G
(5) FFANE I |

WURMRISS WRBEUASS W AKBILSES THLELSLIES TWARIULADD T KIDI AN EALKERL

[r——

39.

supporting an elevator is equal to
weight of the elevator, the elevator
may be '

(A) going up with increasing speed.

(B) going down with increasing
speed.

(C) going up with uniform speed.

(D) going down with uniform speed.

Which of the above statements are

true ?

(1) Only (A) and (C)

(2) Only (B) and (D)

(3) Only (A) and (B)

(4) Only (C) and (D)

(5) Question not attempted

. In each of the case in Columri—I, a

force F is acting on an object of mass
m. The direction of displacement is
from West to East shown by longer
arrow. Match the Column-I and
Column-II and choose correct option :

Column-I Column-II
(Force on an (Work done
Object) by Force F)
@) —[_F——— @ Positive
. F

i1) Negative
— (i1) Neg

-A) B) (©)
o @© @) (G
2 @O @) @
(3) @ @) @
4) () @ @)
(5) Question not attempted

oD



40. 4 @ § TG 991 wElhd 99 59

41.

10))}

wfafafeat 8, S aferss % s ol &

HRU G99 ¢ | 39 T o vl e w

1 gHT |
o I

(1) 3 ufeas nfcass

(2) 3w uferss Tgen
TR

(3) uvH Hfersh HAYTTD
(BrgieemE

(4) uva gfeass T

(5) NG I __'

qRa % fEEe amm @ s=fRm

Frefaied syat w fomm Hifvw

A) Tafea 3Em & e g

B)

(©)

HAYTS TEUMEl (MRd & g™
H ITTSE 324) B 26 FaEE,
1949 & AR feaT T T |
el smm = S sEem
25 Sa, 1950 1 T fo T |
2 g, 1990 w1 fFatew smm
%l TEell SR Sg-veem frem
SR TR |

TE IR %1 =54 i

(1)
2
3
“@
(®)

%ae (A) T (B) TE E |
a9 (A) T (C) =t # |
“ad (B) W (C) W&l £ |
@A), B)w (C) 7 & |
FIARA T

¥

PP

D T § AP 1R824 TPLL O T4 LRSS 4 AR S TR A R . LU WD PG T 79 R S T

T U -

R

e T P T P ——

inmn s VwunE e Teiinsay Ty
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40. Walking in a straight line and
riding a bicycle are few activities
which are possible due to a part of
brain. Choose the correct location
and name of this part.

41.

(1)
(2)

@3)
4
()

Location Name

Fore Brain Cerebrum

Fore Brain Medulla
Oblongata

Hind Brain Hypothalamus

Hind Brain Cerebellum

Question not attempted

Consider the following statements
regarding Election Commission of
India : :

(A)

(B)

©)

The Constitutional Provisions
(Article 324 of the
Constitution of India) relating
to setting up the Election
Commission were brought
into force on 26th November,
1949.

The Nucleus of the office of
the Election Commission was
set up on 25th January, 1950.

The Election Commission was
made a multi-member body
for the first time on
2nd November, 1990.

Choose the correct answer :

D
@)
3
4)

(5

Only (A) and (B) are correct.
Only (A) and (C) are correct.
Only (B) and (C) are correct.
(A), (B) and (C) are correct.
Question not attempted




42,

43.

44.

R4 % "M % Agesg 74
fafafed & 9 ®F & d@faum G

Ffuf=m g um SR Gentya fem

a1 ?

)y o (2) 424

(3) 44d (4) 914

(5) ITgaRa ¥

g AhgT 1 foEes g S 2, 9 39

fordiaes <1 ) BaT & S UEe | wfea

%ﬁﬁwwmmmqﬁﬁw

TR ?

(1) 38 W T E e | :

(2) ¥8 AP 8 Il & AN W H A
Iy fp s afEe 1

(3) I T &9 & Tgafd b TP
& fru S ST 2 |

(4) Ig TsuEwr i acd afufa &1 9e
SAAE |

(5) SITRT A

wra % dfum % Frefafed § 3 f

ITeDe & IAid, I=GH AW b
TS 2, e =il 38 IR

% AT 37X Tl I AT Ih THY

3 g geft 9, v 3R 9= &, A
gfaa faftr @ i@ g0 2

(1) 146 (1)

@) 146 (2)

(3) 146 (3)

(4) 145 (2

(5) TR g

| 42.

i

LB T B8 YRR VLRI N TH MG 4 VIR S TN 708 TV P VY TP B4R YR ) T s

AR A A AP TUABE S 196N MBS (RPN THHNES S 1oL S o B A 68 08) A LA A S TILLNDE MR TS TH LB ANBEL A TR B SO 4 ACHOLRE R TP D T A A 4B

e TeAGL WASING WSS WAL EY T et
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By which of the following
Constitution Amendment Act,
Article 74 of the Constitution of
India has amended for the first
time ?

(1) Tth (2) 42nd
(3) 4_4“1 4) 91st
(5) Question not attempted .

What happens to a Bill that is
pending in the Rajya Sabha and

which has not been passed by the
Lok Sabha, when the Lok Sabha is
dissolved ?

ey

(2) It lapses
reintroduced.

It does not lapse.

and must be

3

It is automatically sent to
President for assent.

(40 It is sent to the Adhoc
Committee of Rajya Sabha.

®)

Question not attempted

Under which of the following
Articles of the Constitution of
India, the administrative expenses
of Supreme Court, including all
salaries, allowances and pensions
payable to or in respect of the
officers and servants of the Court,

shall be charged upon the
Consolidated Fund of India ?

(1) 146 (1)
(2) 146 (2)
(3) 146 (3)
(4) 145 (2)
(5) Question not attempted

oD



45. HFEE AR @wewr AfHEE, 1993 + § 45. According to the Protection of

46.

417.

ODb

@

FIUR, IRA & UL AHG ISR = |
% AHH HI AR H UPAR H IRA I |
ﬁmﬁf@aﬁ@ﬁmmmmmﬁ
TSN ST HRT ?

(1) Tig wermr 3R g -
(2) WSTER Td S i Sedied -
(3) Aol i T SeeiEM
(4) == Y &1 IeeE

(5) FARA A

TSI T3 &1 I § g g 9
ufgas 1 o fored Y- B

(1) 832 fop.1ft. 3t 872 fep 4.
(2) 826 T4, 3t 869 fob. 1.
() 840 6., 3k 865 ..
835 fop. 7. 3R 864 f5 1.

(5) IFAIRd 9

P 38 </ i 2/
AT Fraferfy

A Fran — IR SfEE

B. W& — Wl SRE

C. WRRYSR — FHWerTe 3R M=

% e N
4 for T e B W IW HTwH
I :

% :

(1) AB3RC (@2 A3RC
(3) AIRB (4) wae C
(5) ITA TH

i

s and s 0

[rIT———

P——

TR B T AR W et YA

LR I

RS T it YILRES NS Y IERBNTSY TILARELNGE TIANAS A THAAIATS PR T RO W LA YA TN YNBSS
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46.

47.

Act 1993, the
Chairperson of the National
Human Rights Commission of
India shall be removed from his
office by the order of the President
of India on which of the following

Human Rights

ground ? :

(1) Proved misbehaviour and
incapacity

(2) Corruption and violation of

the Constitution
Violation of Conduct Rules
Violation of Common Law
Question not attempted

3
4
()

Approximate extent of Rajasthan
State from North to South and
East to West is respectively :

(1) 832 kms and 872 kms
(2) 826 kms and 869 kms
(3) 840 kms and 865 kms
(4) 835 kms and 864 kms
(5) ° Question not attempted

Which among the following is/are
correctly matched ?

Landform Location
A, Girwa - — Udaipur Basin
B. Bhakar — Mahi Basin
C. - Bhorat — Between
Plateau Kumbhalgarh
and Gogunda

Select the correct answer from the
codes given below :

Codes:
(1) AABandC (2) AandC
(3) AandB (4) OnlyC

(5) Question not attempted



48,

49.

50.

51.

frrferfiaa 3 @ i o AR T 2 7

ey
(2)
(3)
4)
(®)

e 9t

_ =
e -
ITETTE =
AT -
FARd 9

BT TR Sl 7

@
@)
6))
(4
®)

I g o TR TetaTg WeT % iRl
% @R, sihR & Frefaiad 4 9 fea

4 G 6l
AR 61 <l
TSR Ae) <hl
gfgadt s 7€
AR T

T H AT ?

(1)
@)
3
(4)
(®)

FHUET-2011 % ITER, ToAH H
wﬁm%mgmamﬁﬁaﬁquﬂ@n
fafafgadaemaz ?

(1)
2)
3)
@
)

Bw
Cwg
BWhw
Aw

31_ I 9

AT — FrEaTSt
TG — TSHH=<
TS — HFL
ERIBRIR
HAARd g9

e
it

SR

|
i
i
5
5
i
]
i
|
i
i
H
i
5
§

VT ARSI LSRR 8 s B PR LD S IO T AT 54 AR A AR o RO SRS THARDE ST W B A BB 108 W AR S W AU PR

N TR VPN S04 T4 AT TRIISS

ARSI AN WAL ASS i ey

e
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48. Which among the following is not
correctly matched ?

49,

50.

51.

Main Peak Site
(1) Ser — Sirohi
(2) Rishikesh — Udaipur
(3) Achalgarh — Udaipur
(4) Kumbhalgarh — Rajsamand
(5) Question not attempted
Hathmatiis a tributary of
(1) Som River
(2) Mabhi River
(3) Sabarmati River
(4) Western Banas River
(5) Question not attempted

According to the classification of
climatic zones as given by Koppen,
Bikaner region belongs to which of
the following categories ?

(1
(2)
3)
4)
(5)

Bw

Cwg

BWhw

Aw

Question not attempted

According to Census-2011, which
pair of the following districts have
highest sex-ratio in Rajasthan ? -

(1
@)
3
@
()

Alwar — Banswara
Dungarpur — Rajsamand
Barmer — Bikaner 7
Dausa — Dholpur

Question not attempted

OD



52. AT 2011 % FER, TRYHE <+ 552 As per Census 2011, which among
Fr=ifera foeti @ | fpm foet 1 Sse
T TE HH 8 ?

the following districts of Rajasthan
has the lowest population density ?

(1) Chittorgarh

8 A TR B P LB VAN L

(1) e -

2) iewreT = | (9 Bhilwara

(3) THETG -t : (3) Hanumangarh

(4) TS : (4) Jhalawar

(5) HAFANA TH = (5) Question not attempted

53. UIeyW 4 frafafea @ =4 @t & §9 53. Which one of the following is a

i
HITE ? f breed of Buffalo in Rajasthan ?
@ wm 1 @ Magn

@) (@ Marwari

(3) #egy : (3) Malpura

@ e | @ Mumah

(5) agﬂﬁ'ﬂgq:; i (5) Question not attempted

54. Which of the following is not
correctly matched ?

54. TfaRgad g sR wrgafaa &g 7

D AR TR YIRS NES TYLAES NS M SRR AT

(5) I S

GE forem
o ; Cro Variet
1) % T 3077¢ - ¥
: f (1) Wheat — Rajasthan 3077
(2) HFRI - HE 9GS | : :
; i (2) Maize — Mahi Dhawal
(3) == — e i
(3) Bajra — Mangala
(4) =E@d - HE ;
! (4 Rice — Mahi Sugandha
|
|

(5) Question not attempted
oD 17 O



55. = gEfi-1 3R g=-11 aﬁgﬁﬁaﬁﬁq | 55. Match List-I with List-II given

AT TEl Fe T I HiloT :
-1 TH-II
(@) (& &)
A WR-3EE (i) STREH &
B. diwE e () WM -
C. T (iii) ATI-HI-TE
D. dist (iv) Termid
L T

56.

57.

A-B € B

() (@) (i) @Gv)

(i) G Gv) @)

(v) @) G) @)

@ G) Gv) @ @)

(5) oTgaRa A

“WeER T e afisEr, Frafaied d
gfpaTEwfRas ?

(1) «rem

2) R

(3) SiaR

(4) et

(5) g w¥

R @i A Badl’ o™ o foeg wm
R FafRE g2

1w

(2) JAdH

3 Hd

(4) IETR

(5) STITNA I

@
@)
3

3

O aw >

R LRSS W SEPE AR WIRES 953 LRSS SRR T8 (RIS LIS (T REILRED P 00 P RG] T NS RER TTOLR0 43 TN ] MRS AR b

57.

1AM T8N WAAMUASE WARI RS W LB TR ATED TIARDES RS AT THAAMSLAPES THIRRASE T AAROLAAS WCRbATD TLALED TR 10 RRLIVOS VLR 60 SPLL B YU TYLARED D 11 LIS WL KRN £ THRIRES. S T NS s
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@

()

@

below and select the correct code :

List-1 List-I1
(Minerals) (Mining Area)
. Iron-ore (1) Jawar Mines

. Lead and Zinc (i1) Mandhan

. Manganese (ii1) Nathra-ka-Pal
. Copper (1v) Timmamori
“Codes:

A" B € D
@O @ @) Gv)
@) @ Gv) @)
(v) (m) @) @
) Gv) @) G1)

Question not attempted

)

®)
@

. ‘Bhadeser Thermal Power Project’,

is situated at which of the

following places ?
(1)
(2)
(3)

Barmer

Bikaner ' : ‘
Jodhpur

Pali

Question not attempted

®)

At which place in Rajasthan
‘Chaurasi Khambho-Ki-Chhatri’ is
located ?

(1) Kota

(2) Alwar
(3) Bundi
(4) Udaipur
()

Question not attempted

ODb



58. HEa-Riedl & ° fy=fefga 4 @ =H 5 58. Which of the following ore is

59.

60.

(0)))

3

(5

T 3 hl SEeAT 8 ?
(1)

(2) dftform

(3) IR

(4) 39S

(5) FgaRd I

frafafed & ¥ =9 91 art TeeE |
“TgEY" 97 ®9 § 939 T8 foe
27 »
(1) fherg — AT

(2) TR — TR

(3) TrIEH= — e

(4) TR - R

(5) i A

fFafafea # @ s a gafaa g 2
diave 515 M,
. fegmm dmwe fafics =R
. fozen =mre e e
TSt Hiwve HR
oft e T

W e

A, B3R C
B3R C
B3RD
A 3R B

FHFARA I

B 2ol = @

4

i
5
:
L]
j
!
i
i
!
i
§
i
i
£
{
H
£
H
j
:
i
§

S T R TS e Y e Y

T ———

AR TPURESSTHE THASARS YN AR PSSR W LANPOAY THARECURTS MRS TYUAARGLGT TR RRE WAL AR E SR8 TY AT S Airn AL AR A i TR TP A S A

[y
w

59.

=)
=~

abundant in the Kansala-Nardiya

area ?
(1)
2)
3
4)
(5)

Manganese

Beryllium

Felspar

Mica

Question not atfempted

Which one of the following routes
has
“Express Way” in Rajasthan ?

(1) Kishangarh — Makrana
(2)
3)
4
®)

not been selected as an

Alwar — Shahpura
Rajsamand — Bhilwara
Ganganagar — Sirohi

Question not attempted

Which of the following are correctly
matched ?

Cement Unit Location

A. Hindustan Beawar
Cement Limited

B. Birla White Gotan
Cement

C. Rajshree Cement Meerapur

D. Shree Cement  Chanderia

Codes:

(1) A,BandC

(2) BandC

(3) BandD

(4) AandB

(5) Question not attemptéd



61.

62.

63.

64.

Y5 g1 Ua 3@ ARh HI R AM 2 5t | 61. What is the name of the play

TS STEIV aYT TVrehT hi Grex a2l hl W
SHE! ! GUIAT 2 ?
(1) Foo&iH
@) ST
(3) UTIYA
(4) weEREEET
(5) 3FFid S _
39 T YT 1 A0 Saise 8- -
o % T o %1 ot 3eRE 3
aﬁaﬁﬁ@aﬂmmt
1) oM 2) 3R
(8) IR (4) vTESEl
(5) ITTNG ¥
feafafaa ¥ @ =4 9 fafew e
forgr o S g gro W fepu g 7
A T
B. fiie
C. Taemm
D. =R
i few 7T e 1 ST H HE I A ¢
%R : :
(1) A3RB (2) B3RC
3) AIMC (@) AIRD
(5) ITIRG F¥H
fr=fefea & & #1771 3@ w8 gofod &l
27

e / "o T 99
(1) =y 3fem &g 1880
(@) T TERHEEEd 1873
(3) HIEA Hic 1885
(4) TNl I 1893
(5) gy

9 P ) S TG MD YYD TIARISLISGD THNNE: 0 Y R

WA S LR B8 RIS LAY YRS o

T A S —

R RIS VRIS TR LA TR NFULINES YLK HEE Y AR £ T

. 5 10 4 B0t e BB

RS TEARIO AT TYANRR MY O KA THRASS. ST W AASRUASE 4RI WIS

62.

63.

64.

written by Shudraka which deals
with love affair of a poor
Brahmana with beautiful daughter
of Courtesan ?

(1) Mrichchhakatikam

(2) Abhigyan Shakuntalam

(3) Padmaprabhritaka

(4) Swapna Vasavdutta

(5) Question not attempted

Name the Mughal ruler who made
Mathematics a compulsory subject
of study along with astronomy.

(1) Humayun (2) Akbar

(3) Jahangir (4) Shah Jahan
(5) Question not attempted

Who among the following British
officers were defeated by Kunwar

Singh in Bihar ?
A. Douglas

B. Lee Grand
C. Wilson

D. Henery Barnard
Select the correct answer using the
codes given below :

Codes:
(1) AandB (2) Band C
(3) AandC (4) AandD

(5) Question not attempted

Which of the following pair is not
correctly matched ?

Institute/ Establishment
Event Year

(1) New English 1880
School

(2) Deccan 1873
Education
Society

(3) Fergusson 1885
College

(4) Ganpati 1893
Festival

(5) Question not attempted
oD



65.

66.

67.

68.

oD

fafafaa 3 @ =i @1 3w o gafea :I'apf 65. Which of the following pairs is not

27

1)
@)
3)

EENEECL
1865
1866
1882
1892

S
SRl
hTEIhEdl

S
4)

(5) NG FH

30 Ffgd &1 9 SaRy S84 1857 &
gtz =1 3199 1909 % Yehi9H H “9Hd i
WaAal SUM” % ®9 4 givid o @Y
IR TPATE o Sidar™ i@ § et T
feamam |

(1) .81 g

(2) wWH.EH.EH

(3) JARHI. AFIER

(4) oHY . UTHS

(5) TG T

30 oAfdd 1 9 wdaisd S 99 1931
Teoreft st forfer & fafew mel gra srmm
ﬁnﬁﬁﬁﬁaﬁﬁwﬁﬁﬁﬁwméﬁ
TR T |

(1) ==z aE

(2) SATEET 1EE

(3) HETH M

(4) i.3R. IEEH

(5) ITgANd T

fefafea # &+ ot gww(S) @
faaesre gra & foreht 78 2

A, SHEm

B. TSEm

C. Togd %M hicel g Fearsl |

D. dm
‘ﬁ%fﬁﬁﬂqiﬁaaﬂ3qﬁh1aﬂxﬁﬂSHtgﬁ:
(1) A B, C3RD

(2) A B3RC

(3) AIRB

(4) HIa D

(5) IFFaRa I

!'
t

ISR -

A W LARES IR YIRS S A T O A9 9 4 SPSNOD W R 80 T RIS AR VNGRS T AR5 T YN S TR o T

8 i 8 THAABE NS WA

66.

67.

68.

correctly matched ?

Books Publishing
Year
(1) Durgeshnandini 1865
(2) Kapalkundala 1866
(3) Anandmath 1882
(4) Sitaram 1892
(5) Question not attempted

Name the person who drafted the
revolt of 1857 directly into the
historiography of Indian
Nationalism by describing as
“Indian War of Independence” in
his 1909 publication.

(1) V.D. Savarkar

(2) S.N. Sen :

(3) R.C. Majumdar

(4) Thomas R. Metealf

(5) Question not attempted

Name the person who went to
collect the bodies of Martyrs killed
in unprovoked fire by British
guards in Hijli Detention Camp in
the year of 1931.

(1) Subhash Chandra Bose

(2) Jawahar Lal Nehru

(3) Mahatma Gandhi

(4) - B.R. Ambedkar

(5) Question not attempted
Which of the following books
was/were not written by Swami
Vivekanand ? -

A. Karma Yoga

B. Raj Yoga

C. Lectures from Colombo to Almora
D. Yoga Sutra

Select the correct answer using the
codes given below :

(1) A, B,CandD

(2) A, BandC

(3) AandB

(4) OnlyD

(5) Question not attempted



. 69.

70.

bl.

72.

“ATRd BT 31 ST fehei-l SRedl ol &1 ?
1) G §E

(2) weTeH M

(3) SETEES EE

(4) T we

(5) IgARd gH

N e

- fmdi & faea & ol s e 2

(1) TererTe Td SRy
2) Wl EE
(3) TYAT Ud HHeTS
(4) TR TS e
(5) aRa w=A

Hremm Hi e =m w @ o e
T B R R SR 3§ GATE
TR T ?

1) s

(2) WA/

@) T

(4) Sewid

(5) ARG A

foffea i a s @A adi T8 e ?

(1) e H @ g JWaE A
1954 B 6T |

(2) I U UTHIO TEpia ol |

3) a%ﬁaw@ﬂgmﬁfaﬁ
g |

(@) duRauERid aifa Y |

(5) IR T

:
|
3

PN R e OO Ao W NS T RIS ED

0 ARG a8 LT

TS AR g

T AR nd AR WARMUNAS W ANDOLHEE AR
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69. Who presented the proposal of
“Quit India” ?

71.

72.

70.

1)
@
(3)
4
®)

Subhash Chandra Bose
Mahatma Gandhi
Jawahar Lal Nehru
Vinoba Bhave

Question not attempted

Decision of merger of which of
these principalities was annulled
in Ajmer by Sardar Patel ?

¢y
(2)
3
(4
®)

Kishangarh and Shahpura
Masuda and Kharva
Saradhana and Peeplaj
Goyla and Joonda
Question not attempted

At which place was the Kalaram

Temple located, for entry into
which Bhimrao Ambedkar started
Satyagraha ?

1

2)
3
@
®)

Nasik

Satara

Pune

J algéon

Question not attémpted

Which of the following statements
is not correct ?

M

2)
3)

@

®)

Ahar was discovered by Ratan
Chandra Agarwal in 1954.

It was a village culture.
They used painted grey ware
pottery.

They were familiar with horse
and elephant.

Question not attempted

oD



73. fraforfea § & frm o 3 sReRi 17 | 78, In which of the following texts

74.

75.

OD

3 TEiRE T 5 | Pratiharas have not  been
hibs el e @ ' addressed as Gurjar ?
(1) FuiEerhery | (1) Yasistalk Champu
(2) paTIHIE ! 2) Kuvalymala
(3) W i (3) " Vnshbhaskar
(4) Skandapurana
@) TeheqqIYl i
- — ; (5) Question not attempted
f5u e wEs 1 Rew HeHIG’ hl ! 74. Which Mewar ruler assumed the
STl s ) off 7 title of ‘Vijay Katkatu’ ?
@ . : (1) Maharana Pratap
o == (2) Maharana Amar Singh
TR Ao i
= | (3) Maharana Jagat Singh
(3) RN 3 (4) Maharana Raj Singh
(4) ERN TS{EE 3 (5) Question not attempted
(5) FeiE IH !
% = i . atch the List-I an ist-II an
g1 3ii g=h-11 =i firesy ik = fgg | 75 Match the List-I and List-II and
: | select the correct answer using the
T R T I wwmﬂ%{ : | codes given below :
g1 G-I List-I List-II
e : A. Neemuchana i Alwar
A dgEmEEE i FER : _
: | massacre
B. Sl ¥l i, He B. Daabi ii. Sikar
C. HiTe T i, incident
: _ | C. Kangad iii. Bundi
D. R & iv. ol E incident
Fe E D. Kudan iv. Bikaner
s 5 5 : incident
: Codes:
& im0 : i s
@ i iv @ i 3 @ i i iv i
4y i F i o 1v ; (3) 1 W B Dl
(5) yaﬁﬁﬂ;ﬁq ; 4 1 : S s
i (5) Question not attempted
23 o
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